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-C2-representation

Conjugate linear & Ke(ID,a)AIRPGIR
VI

=> C & Spin(P19)

Theorem (Atyah) : G -> Spin4p ,g) C2-equivariant
-[=> KlRG(X) KUR

,
G(IR
**XX) , peqmod 8.

↳ contains all Thom isomorphisms above,

2 .9. Spin(8n)4 Spin (8n) = Spin(8n ,0)

& ((n) Spinn,m) C2-equivariantly
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(1) MSpin= (Mspini)e[
↑

(2) 7 Eo-map MSpin- (MSpini)
(3) 7 CzEsmaps MUR-MSpini-KUR

#Realspin orientation)
(1) + (3) = Mspin'+ KU

(2)+ (3) = MSpin-KO

(3) => MUR- KU,R
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Proof : Suppose W IS an equivalence.
-

U

=> Mackey MSpi*
->MSpinDai

functor -
tr

-

= C + x = u(tr(f)) eu(uSpin) , ceMSpuE

=> k+2)e7 , XXEMSpinG (D) ·

* (((P2]) = -E = (TP2]) = I + n

=>((2]+It)= T T
-
-

↳ ActuallyShows (MSpinEMSpin4 # (E-Ee) VE
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At 13

InSpin)-(KUir)
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